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: _ _ Smile 2190
TWlC e Both of these sets of coins contain the same amount of money.

They both contain 35 pence.
as One set contains twice as many coins as the other.

many

3 coins vl et 6 coins
35p 35p
1. Here 30p has been made using 2 coins. 2. Here 14p has been made using 3 coins.

2 coins
30p

Show how you can make 30p using Show how you can make 14p using
4 coins. 6 coins.



3. Here 71p has been made using 3 coins. 4. Here 6p has been made using 4 coins.

4 coins

Show how you can make 71p using Can you make 6p using 8 coins?

6 coins. .
Turn over ’

5. Find an amount of money that can be made in two ways so that
one set of coins contains twice as many coins as the other set.

6. Find other amounts that can be made in two different ways.
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Smile 1710

Pencils

r~ | "

1. Latifa's pencil is 4cm long. Which is Latifa’s pencil?

2. Chris' pencil is twice as long as Latifa’s. Which pencil belongs to Chris?
3. Kate's pencil is three times as long as Latifa’s. Which pencil is Kate's?
4. Sean's pencil is half as long as Kate's. Which pencil belongs to Sean?
5. Whose pencil is half the length of Chris™?

6. Kim's is the shortest pencil. Which one is Abdul’s?

=~

Write about Kim's pencil.

8. Now write about Abdul's pencil.




Walking to Sch

o Smile 1649
| } - [

s n s

o
s

“A lives twice as far from school as B”

Who lives nearer 1o the school?



2. Do you know how f
arf
A and B live? P NS o

~ Would it be correctto say “A’s distance
from school is twice B’s distance™?

 Would it be correct to say “The ratio of
A’s distance to B's distance is2to 177

5. If Aand B both leave home at 8.00 a.m.

and walk at the same speed, who will
getto school first?



t
6. LastThursday A and B left home a
8.00 a.m., but both arrived at 8.20 a.m.

Can you explain this?

/. Paula lives 800m from school.
Steven lives 1500m from school.
Wayne lives 350m from school.
Ahmed lives 450m from school.
Lindsay lives 750m from school.
Tanya lives 1100m from school.
Robyn lives 200m from school.

Can you work oyt the names of
Aand B?

8. The ratio of C’s distance to D'sis4toq
Who are C ang D?



Smile 1752

Undera

glass

This magnifying glass makes
things 5 times as long.

How long is the beetle really?

How long are the creatures below?




MILE 1224

o
o

Cooking Numbers




Ms Jones, a domestic science teacher and a
group of 7 children are making quiches.

Ann: HOW MUCH PASTRY DO | NEED?
Ms Jones: How many are you cooking for?

Some of the children are members of large Ann: - Just 2 —there’s only mum and me
families and want to make a quiche for as Ms Jones:  The recipe is for 4 people so

many as 8 people. Others only want to make youll need to halve all the

enough 1o serve two. quantities. Use 50g of pastry.

The problem is to know how much of the 1)

different ingredients to use . . .

Write a full list for Ann giving the quantity of
each ingredient she needs to use.

Tom: HOW MANY EGGS SHOULD |

USE? I'M COOKING FOR 6. '
Ms Jones: You'll need 1V times what is on
the recipe — thats half as much
again. Use 3 eggs.
2)

Write a list showing the quantity of each
ingredient Tom must use.

Later in the year Ms Jones decided to make

the same quiche with another group of

N children.
Q_uiche'of Bacon and Lee

IMET Agkl’“\lz 1% HOL'-}‘{S
TiME 3

G ERV ES 4

To avoid all the same questions about the
guantities of different ingredients, she made a
table to give out to the children.

100 g shorterust pastry
For the Filling
450g lecks

Number of c,\“\ e
g ==
10g butte! :

& & & &
¥ £ ¥ F
People Q o <

1 ]
| : i S 509
i:(tl'e[&shl\' milled peppe!

100¢g lean bacon yashers
9 eggs

100g|450q | 40g [100y4] 2 | 180

. Aareer 3 2

ooy glightly JarEE 5 C Ly, Line

gy Ut €0 acivele sg! . on a baking B . Set

Rolithe pah-uﬁe rin or flan 08 > | the edges neatly
em) Aquic Cerpy, and oM Hhing.

(‘iﬂ tglrgiith the Past Z{'alte preparing g TP

the |

2
3
4
5
6
7

‘e in a oo place W e the oute? 3) Copy and cqmplete the tabf_e‘
asl ¢ the leeks and n? | 1o within It will be easier if you start with the rows for
g i W \ ,
criim away 1he ba(:;it"m e green 1eay e&;()l;eks open aﬂ‘i 2 people (Ann's recipe) and 6 people
damaged ‘L‘;\i‘; e white pﬂ‘i‘i 111:[ . Shred the ‘f‘;ﬂ (Tom's recipe).
T (2Vhem g CcOlC £ Acon rasi
inch (2%  punning . the bacon 1<
wash wg’t'.‘ Ll.ﬂd'(:] ' :he rinds and cut Ul()i the bacon. St 011 p
S away frying P o Season wil )

There are problems in some rows of the

- table with the number of eggs and the
B e G ne y for amount of cream.
salt and FL heat ' i

, the
L(?Tlﬁ‘;es or unt
mil '

he leek andt bacon
‘ eave be'n'md any

and
peam al
s and <1

the cggs *

Explain how you solved these problems.
e
. ¢f ghe heat and spoot
an off the

grry cuse.

Draw the P repawd o
i e IO the pred e
B pan pLaghtly LY
- the leek and hd(f)l«]-‘l}; !
e hotovent: 15 m,“ W
L Qerve Wi
utes. Se

Turn over



5) The time taken for the quiche for 4 people
IS given ds 1% hours

a) Should you allow 2%z hours for a quiche for
8 people? ;

b) How long do you think you should allow?

C) At what temperaturs should you set the
oven?

d) What size tin should you use?

Explain your answers.
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Smile 2267

Introducing Ratio

You will need worksheet 2267a.

_Ratio is the comparison between
two or more values.

Here are some bracelets.

Qﬂi

CeO®
Each bracelet consists of 24 beads.

Each bracelet has 16 red beads and
8 white beads.

For each bracelet there are
16 red beads and & white beads.

The ratio of red beads
to white beads is. . . 16:8

The ratio of red beads
to white beads expreseed
in the simplest formis ... 2:1

The ratio 16:8 is equivalent to the ratio
2:1 because for every 2 red beads there
is 1 white bead.

D Use worksheet 2267a.

Cut out the descriptions, ratios
and ratios in the simplest form.

Use this information to colour in
the bracelets.

© RBKC SMILE 1996.



Smile Worksheet 2267a

Introducing Ratio Worksheet
1. Cutoutthe |Ratio [ Ratio in its simplest form EUE} Bracelet

2. Match each description to a ratio and a ratio in its simplest form. (There are 5 groups.)

3. Colour a bracelet for each description to show the ratio of red beads to white beads.

I | I
| I

|

} There are | The ratio of red beads
I 8 red beads and | to white beads is
I
|
|
I

|
|

6:18 | 1:5
|

red . white
beads = beads

16 white beads.

I

The ratio of red beads
to white beads is

There are
6 red beads and

I I
I I

18 white beads. i[ 8 . 16 E 1 . 3
I

I
I
I
|
I
I
I

I
I
I
l
f
|
|
I

e e e e gy A R | I _I
Deseription ——J|——— sto ——— Jratioin wasimpiesttorm [l araceier ]
| |
I
There are | The ratio of red beads red . white
4 red beads and | to white beads is beads * beads

|
l :
|
| I
I 20whitebeads. | : | .
| | 18: 6 31
I |

—————————— +————-——-——————-—1—-—~——-——————--——————-—————-—-|

I
I

I

The ratio of red beads
to white beads is

|
|

4:20 | 7:1
|

There are

I

: red . white
| 21 red beads and

I

I

I

I I
I i |
I beads = beads | :
| |
3 white beads. | I |
[ | |
| | |
I

—————————— fmm———————— e —————— — — —|———— — = —— — ]

-
|
red . white

I

|

I

The ratio of red beads |
beads = beads |
|

|

[

|

I

to white beads is

I

: There are

| 18 red beads and
I

I

|

|

I 1
‘ !
|
6 white beads. : 21 : 3 E 1 . 2
| |
! |



Smile 2336

Comparing ratio

You will need worksheet 2336a

Ratio is the comparison between two or more numbers.

This is Janine’s class.

Janine has written five statements to
describe her class.

‘In my class there are 25 pupils.’

‘In my class there are 15 girls and 10
boys.’

‘In my class there are 3 girls to every
2 boys.’

‘The ratio of girls to boys is 15:10.

‘The ratio of girls to boys in its
simplest formis 3: 2.’

Explain why the ratio 15 : 10 is equivalent to the ratio 3 : 2.

Use the worksheet 2336a. Cut up the 25 pieces and sort them into 5 groups to find
which statements describe each pupil’s class. You will need to fill in some missing
numbers. Stick them in your book.

The ratio of girls to boys in Gezlain’s class is 3 : 5.
a)  Which of the following describes the class?
16 pupils, 6 girls and 10 boys.
20 pupils, 8 girls and 12 boys.
b) Describe two other classes with a ratio 3 : 5.

Jasmine and Jason cook similar omelettes. Jasmine’s omelette is for two people.

No. of people | Eggs | Butter | Tomatoes | Mushrooms | Cheese

Jasmine 2 & 109 . . .
Jason . . 25¢g 8 15 125¢g

a) What is the ratio of quantities in its simplest form?
b) Copy and complete the table and find out how many people Jason’s omelette

will feed.
© RBKC SMILE 1998



Smile 2363

Conversion Pack 1

An activity for 2 people

1.

Complete the problems on cards A—F.
You might find the conversion chart on
the back of this envelope helpful.

Record your answers in your book. Show
your working. Remember to include the
units in your answers.

You need to know the conversions. Record

~ them in your book and test each other on

them. -

© RBKC SMILE 1999



Smile 2363

33
AR
b KR

.u.ﬂ%h.

s

LR

% i
&

How many pints?



Smile 2363

Match the pairs of cards.

a) 2km 1) 1350cm
b) 135¢m 2) 0.265km
c) 26.5mm 3) 2000m
d) 13.5m 4) 1350mm
e) 265m | | 5) 2.65cm




Smile 2363

Who is the heavier?

160Ib 9 stone 71b



Smile 2363

A rug is 4 foot 5 inches long.

How many inches is this?

FA L

gty iy

P -



Smile 2363

Two students are doing a science
experiment.

i

They take 57ml

— 1 litre —

from a 1 litre
measuring
beaker.

How much liquid is left in the beaker?



Smile 2363

The hand baggage allowance on the flight
fo Kenya is 5kg.

Tim’s bag contains:

Camera
Q00g

Wash bag

ﬂawﬁ@u%ﬁg
1.4kg

E00g ;

Is Tim’s bag too heavy?



‘Ratio problems
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You wrtt need Worksheet 21 34a

Srmllar Ftectangles”

Cut out rectangle A and rectangte B

from the worksheet

s Place rectetng-l'e Aon top of r'ecta_hgte B.

Smile 2134

Smile: Worksheat 2134a

o 1T T

 Lookatthe
. diagonals.

 Both se’te 5
~ of diagonals

coincide.

* For _both rectangles A and B the ratio of t'h.e Long side : Short SEde_ts‘z ol

‘Re'ctangte

' Lgng
Side

S’hart '

: s‘ide

Ftatio

Long side:Short side et

A

S

 6:3 =

241

i

8:4 =2:1

Rectangle Ais 31mtlar to rectangle B

; Cut cut the other rectangles frcm the worksheet
; Group them Into 2 sets ef simtlar rectangtes

‘ For each set draw another rectengle that is srmllar
Check that they are similar rectangles

_Rectangtes are s:mﬂar i the ratio Long 51de Short Stde is the same i

| -Make a tabte for both sets to show the ratao of the Long s:de Short srde
'Check that they are srmttar rectangles : ; |

© RBKC SMILE 1994.



Cut out these rectangles.

Smile Worksheet 2134a
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